NEW TO RANGE

2024-05 (BY PRODUCT GROUP)

~ NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis jLai~

A001.Tie Rod End

A001.Rotbaslari (0010)
A001.HaKOHEYHUKN DVNEBO TATU

Rotule de direction
EXTREMO DE DIRECCION

1202076 TIE ROD END LH
rotbasgi, 6n sol M16x1,5
32105A2BD0O7 HAKOHEYHUK pyneBoi TAru PAIR:1202077
Rétula barra de acoplamiento
Rotule de direction
BMW 1X (120) 07/21-
P 1502128 TIE ROD END RH
rotbasi, 6n sag M14x1,5 RHT
1727227 S2 HaKOHEYHWK Py/NeBO TATU PAIR:1502129
1910477 Rétula barra de acoplamiento
UC2N32280 Rotule de direction
FORD RANGER (P375/PX) 04/11 - MAZDA BT-50 (CD, UD) 12/06 -08/15
o 1502129 TIE ROD END LH
=t rotbasi, 6n sol M14x1,5 RHT
1729241 S2 HaKOHEYHWK Py/IeBO TATU PAIR:1502128
1910478 Rétula barra de acoplamiento
UC2N32290 Rotule de direction
FORD RANGER (P375/PX) 04/11 - MAZDA BT-50 (CD, UD) 12/06 -08/15
- 150214 TIE ROD END RH
= 50 0 rotbagl, 6n sag M16x1,5
2252867 HAKOHEYHUK pyneBoi TAru PAIR:1502141
KV6C3C367AA Rétula barra de acoplamiento
Rotule de direction
FORD TRANSIT CONNECT 08/14-
> TIE ROD END LH
¥ 1502141 rotbasi, 6n sol M16x1,5
2252870 HaKOHEYHWK pPyNeBO TArn PAIR:1502140
f KV6C3C437AA Rétula barra de acoplamiento
Rotule de direction
FORD TRANSIT CONNECT 08/14-
gé? 17 2 1 TIE ROD END BOTH SIDES
= 02013 rotbagi, 6n sag-sol M16x1,5
LR162107 HaKOHEYHUK pPyneBoit TArn
Rétula barra de acoplamiento
Rotule de direction
LAND ROVER RANGE ROVER 01/22-
3702044 TIE ROD END LH
rotbasi, sol
56820AA000 HaKOHEYHUK py/neBoi TAru Pair: 3702045
56820F2000 Rétula barra de acoplamiento
Rotule de direction
HYUNDAI ELANTRA 08/16- HYUNDAI ELANTRA CN7 01/21-
HYUNDAI KONA 08/17-
3702045 TIE ROD END RH
rotbasi, 6n sag M16x1,5
56825AA000 HaKOHEYHWK pPy/NeBO TATU Pair: 3702044
56825F2000 Rétula barra de acoplamiento
Rotule de direction
HYUNDAI ELANTRA 08/16- HYUNDAI ELANTRA CN7 01/21-
HYUNDAI KONA 08/17-

2024-05 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

1of17



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

Rétula barra de acoplamiento

s 3802027 TIE ROD END RH
rotbasi, 6n sag
8AT1-32-280 HAKOHEYHUK pyneBoi TAru PAIR:3802033
8AT132280A Rétula barra de acoplamiento
00132280 Rotule de direction
MAZDA MILLENIA 08/95-11/12 MAZDA XEDOS 9 07/93 -
3802033 TIE ROD END LH
rotbagl, &n sol M14x1,5
8AT2-32-280 HAKOHEUYHUK py/NeBoW TArU PAIR:3802027
8AT2-32-280A Rétula barra de acoplamiento
T001-32-230 Rotule de direction
MAZDA MILLENIA 08/95-11/12 MAZDA XEDOS 9 07/93 -
3802068 TIE ROD END LH
rotbasi, 6n sol M14x1,5
GBEF32290 HAKOHEYHUK pyneBoi TAru PAIR:3802069
Rétula barra de acoplamiento
Rotule de direction
MAZDA 6 3rd Gen (GJ1/GL) 08/13-10/17
3802069 TIE ROD END RH
rotbagl, n sag M14x1,5
GBEF32280 HaKOHEYHWK Py/NIeBOM TArn PAIR:3802068
Rétula barra de acoplamiento
Rotule de direction
MAZDA 6 3rd Gen (GJ1/GL) 08/13-10/17
- 3901007 TIE ROD END LH
B rotbasi, 6n sol M20x1.5 LHT
MC 891647 HaKOHEYHWK pPy/NeBO TATU Pair: 3901008
MW 033300

Rotule de direction

MITSUBISHI CANTER F444 09/73 - 09/85 MITSUBISHI CANTERFE 5, FE 6 09/92 -
> 1 TIE ROD END RH
& 390 008 rotbasi, 6n sag M20x1.5 RHT
MC 891648 HAKOHEYHUK pyneBoi TAru Pair: 3901007
MW 033301 Rétula barra de acoplamiento
Rotule de direction
MITSUBISHI CANTER F444 09/73 - 09/85 MITSUBISHI CANTERFE 5, FE 6 09/92 -
TIE ROD END CENTER

&

4201072

4546039505 S1

rotbasl, 6n, orta
HaKOHEYHUK Py/NIeBOi TArn

Rétula barra de acoplamiento
Rotule de direction

TOYOTA 4 RUNNER N130 08/87 - 03/96 TOYOTA HIACE I 03/83-07/89
TOYOTA HIACE 11l 08/89 - 07/95 TOYOTA HILUX 11 (N6, N11, N12, N16, 08/83 - 08/88
TOYOTA LAND CRUISER 90 (J90) 04/95 -08/02
4202126 TIE ROD END LH, FRONT
rotbasi, 6n sol M15x1,5

45470-59095

HaKOHEYHUK pyneBoi TAru
Rotula barra de acoplamiento
Rotule de direction

Pair: 4202127

LEXUS LS (460) 08/07-08/12
4202127 TIE ROD END RH, FRONT
rotbasl, 6n sag M15x1,5
45460-59085 HaKOHEYHUK pyneBoi TAru Pair: 4202126
Rétula barra de acoplamiento
Rotule de direction
LEXUS LS (460) 08/07-08/12

2024-05 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

20f17



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

o~

4202156

45464-30090

TIE ROD END
rotbasi, 6n sol
HAKOHEYHUK pyneBoi TAru

Rétula barra de acoplamiento
Rotule de direction

LH
M15x1,5

PAIR:4202157

LEXUS GS (L10) 12/11- LEXUS GS200t 08/13-
LEXUS GS300, GS350 08/13- LEXUS GS450h 08/13-
LEXUS 1S250, 1S200t 01/14- LEXUS 1S300 08/14-
LEXUS 1S350 08/14- LEXUS RC F 08/15-
4202157 TIE ROD END RH
rotbasi, 6n sag M15x1,5
45463-30190 HaKOHEYHWK Py/IeBO TATU PAIR:4202156
e Rétula barra de acoplamiento
Rotule de direction
LEXUS GS (L10) 12/11- LEXUS GS200t 08/13-
LEXUS GS300, GS350 08/13- LEXUS GS450h 08/13-
LEXUS 15250, 1S200t 01/14- LEXUS 1S300 08/14-
LEXUS 1S350 08/14- LEXUS RC F 08/15-
2021 TIE ROD END RH
:. 4 0 76 rotbasi, 6n sag M14x1,5
DO9H-32-280 HaKOHEYHWK PyNeBO TATn PAIR:4202177
DA8A-32-280 Rétula barra de acoplamiento
DABA-32-280A Rotule de direction
LADA VESTA 08/15- MAZDA 2 (DL, DJ) 11/14-
TOYOTA YARIS (XP210) 01/20-
TIE ROD END LH
:‘ 4202177 rotbasi, 6n sol M14x1,5
DO9H-32-290 HaKOHEYHWK pPy/NeBoO TATU PAIR:4202176
DA8A-32-290 Rétula barra de acoplamiento
DA8A-32-290A Rotule de direction
LADA VESTA 08/15- MAZDA 2 (DL, DJ) 11/14-
TOYOTA YARIS (XP210) 01/20-
4502004 TIE ROD END FRONT; LH
rotbasl, 6n, sol
485209260R HaKOHEYHUK pyneBoi TAru PAIR: 4502005
Rétula barra de acoplamiento
Rotule de direction
DACIA DUSTERIII 10/17- RENAULT ARKANA | (LCM, LDN) 08/19-
4502005 TIE ROD END FRONT; RH
rotbasi, 6n, sag M14x1,5
485207921R HaKOHEYHUK pPyNeBo TArn PAIR: 4502004
Rétula barra de acoplamiento
Rotule de direction
DACIA DUSTER Il 10/17- RENAULT ARKANA | (LCM, LDN) 08/19-
. 1034 TIE ROD END BOTH SIDES
iy 560103 rotbasl, 6n sag-sol M11/16"
26044466 HaKOHEYHUK PyNeBoi TArn
26054934 Rétula barra de acoplamiento
Rotule de direction
CHEVROLET BLAZER 2nd Generation 08/95-08/05 CHEVROLET S10 2nd Generation 08/82-08/04
GMC JiMmmy 10/94 - 12/04
. TIE ROD END RH
,, 1 "
5601035 rotbasi, 6n sag M11/16
4131302 HaKOHEYHUK PyNeBoi TArn PAIR:5601036
52038288 Rétula barra de acoplamiento
Rotule de direction
DODGE RAM 1500 01/95-12/99 DODGE RAM 2500 PICKUP 08/94-09/02
DODGE RAM 3500 PICKUP 08/94-09/02

2024-05 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

30f17



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

5601036

4131303
52038288 S1

TIE ROD END
rotbasi, 6n sol
HaKOHEUYHUK PYNeBoit Taru

Rétula barra de acoplamiento
Rotule de direction

LH
M11/16"

PAIR:5601035

DODGE RAM 1500 01/95-12/99 DODGE RAM 2500 PICKUP 08/94-09/02
DODGE RAM 3500 PICKUP 08/94-09/02
6001023 TIE ROD END LH
rotbasl, 6n sol M27x1,5
68111304AA HAKOHEUYHUK py/NeBoi TAru
Rétula barra de acoplamiento
Rotule de direction
DODGE RAM 3500 01/06- RAM 2500 02/11-12/18
RAM 3500 02/11-12/13
ﬁ 6101014 TIE ROD END RH
rotbasi, 6n sag, dis 11/16" 18G
2240673 HAKOHEUYHUK pyNeBoi TAru PAIR:6101015
O 5674340

Rétula barra de acoplamiento
Rotule de direction

JEEP SCRAMBLER 08/81-09/85 JEEP WAGONEER 08/72-09/73
% 6101015 TIE ROD END LH
Py rotbasi, 6n sol, dis 11/16" 18G
1696862 HaKOHEYHUK pyneBoii TArun PAIR:6101014
1696863

JEEP SCRAMBLER

08/81-09/85

Rotula barra de acoplamiento
Rotule de direction

JEEP WAGONEER

08/72-09/73

A002.Ball ioints

A002.Rotiller (0030)
A002.lllapoBbie onoobl

Rotule de suspension

s &
L’/“\y

ROTULA
1004005 BALL JOINT BOTH SIDES
rotil, 6n FRONT
505650280 waposas onopa
Rétula de suspension/carga
Rotule de suspension
ALFA ROMEO TONALE 01/22-
= BALL JOINT
; 1403015 rotil, 6n FRONT
0 5801378063 waposas onopa
Rétula de suspension/carga
- Rotule de suspension
IVECO DAILY VI 08/14-
S BALL JOINT BOTH SIDES
1503084 rotil, &n Ust FRONT UPPER
ML3Z3084A waposas onopa
ML3Z3085A Rétula de suspension/carga
= Rotule de suspension
FORD F-150 07/20-
i 1903028 BALL JOINT BOTH SIDES
rotil, 6n, sol-sag FRONT&REAR
1673306300 LapoBasn onopa, yCUIeHHan
Rétula de suspension/carga
Rotule de suspension
MERCEDES BENZ GLE SERIES (167) 03/19- MERCEDES BENZ GLS SERIES (167) 08/19-
o 401 BALL JOINT BOTH SIDES
\ 3604018 rotil, 6n sag-sol Cone :15,2-19 mm
51220TVAAO01 S1 wapoBas onopa For 3609200/1
Rétula de suspension/carga
Rotule de suspension
ACURA RDX (TC1) 06/18- HONDA ACCORD 01/18-

2024-05 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

40of 17



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

_ﬁ,_ 4103059 BALL JOINT
i rotil, arka, st REAR UPPER
- 55501CK000 S1 waposas onopa
55502CK000 S1 Rétula de suspension/carga
- CMs30128 51 Rotule de suspension
NISSAN QUEST (V42) 08/04-08/09
% 4904010 BALL JOINT BOTH SIDES
alt rotil, 6n sag-sol, alt LOWER
0K011-34-510B waposas onopa
Rétula de suspension/carga
Rotule de suspension
KIA RETONA (CE) 06/99 - KIA SPORTAGE (K00) 04/94 - 04/04
-B- 5603065 BALL JOINT BOTH SIDES
rotil, 6n, alt FRONT LOWER
19191134 waposas onopa
45D2349

Rétula de suspension/carga
Rotule de suspension

CHEVROLET EXPRESS 2500 2nd Gen 08/03 - 08/14 CHEVROLET EXPRESS 3500 01/11-12/18
GMC SAVANA 2500 08/03-09/14 GMC SAVANA 3500 08/03-09/14
. 6003036 BALL JOINT BOTH SIDES
rotil, 6n sag-sol
52037667 waposasn onopa
52037674 Casquillo cojinete, brazo oscilante
" 52038730 Rotule de suspension
DODGE RAM 1500 01/95 - 12/99 DODGE RAM 2500 PICKUP 08/94-09/02
DODGE RAM 3500 PICKUP 08/94-09/02
B BALL JOINT BOTH SIDES
2 6103026 rotil, 6n sag-sol, Ust FRONT UPPER
68388819AA waposas onopa
Rétula de suspension/carga
- Rotule de suspension
JEEP GLADIATOR (JT) 04/19- JEEP WRANGLER IV (JL) 11/17-
5 1 27 BALL JOINT BOTH SIDES
- 61030 rotil, 6n sag-sol, alt FRONT LOWER
68388819AA S1 waposasn onopa
Rétula de suspension/carga
- Rotule de suspension
JEEP GLADIATOR (JT) 04/19- JEEP WRANGLER IV (JL) 11/17-
6103030 BALL JOINT BOTH SIDES
rotil, 6n sag-sol, alt FRONT LOWER
3492129 waposas onopa
3683983AB Rétula de suspension/carga
. 3683983 Rotule de suspension
DODGE RAM 2500 -3500 08/02-08/09

A003.Track control arms

A003.Rotilli Kollar (0045+)
A003.Pbluaru nepenHei noaBecku

Triangle de suspension
BRAZO DE SUSPENSION

- o

1205198

33326861115
33326870535
33326883339

BMW 5 SERIES (G30, F90) 07/16-

BMW 7 (G11, G12)

2024-05 (BY PRODUCT GROUP)

07/15-

STRUT CONTROL ARM
denge kolu, arka sol, Uist
pbiyar

Barra oscilante, suspension de ruedas
Triangle de suspension

BMW 5 SERIES (G31)

BMW 8 SERIES (G14, G15, G16)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

LH
REAR UPPER

PAIR:1205199

07/17
01/18-

50f 17



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

1205199 STRUT CONTROL ARM RH

B denge kolu, arka sag, st REAR UPPER

W 33326861116 pbiuar PAIR:1205198
33326870536 Barra oscilante, suspension de ruedas

33326883340 Triangle de suspension

BMW 5 SERIES (G30, F90) 07/16- BMW 5 SERIES (G31) 07/17
BMW 7 (G11, G12) 07/15- BMW 8 SERIES (G14, G15, G16)  01/18-
~ 1205200 STRUT CONTROL ARM LH
. N / denge kolu, arka sol, tst REAR UPPER
\ !Q/ 33306878021 pbluar PAIR:1205201
\ - 33306893087 Barra oscilante, suspensién de ruedas
Triangle de suspension
BMW X5 (GO5, F95) 08/18- BMW X6 (G06) 01/19-
BMW X7 (G07) 03/19-
P 1205201 STRUT CONTROL ARM RH
\ - " denge kolu, arka sag, tst REAR UPPER
£ ! ) 33306878022 pbluar PAIR:1205200
/ 33306893088 Barra oscilante, suspension de ruedas
’ Triangle de suspension
BMW X5 (GO5 , F95) 08/18- BMW X6 (G06) 01/19-
BMW X7 (G07) 03/19-
1505038 STRUT CONTROL ARM FRONT,RH
—_ denge kolu, alt, 6n sag
R ‘ LB5Z-3078-A pblyar PAIR: 1505039
- //\ Barra oscilante, suspensién de ruedas
Triangle de suspension
FORD EXPLORER 01/20 -
1505039 STRUT CONTROL ARM FRONT,LH
. P denge kolu, alt, 6n sol
‘ R e LB5Z-3079-A pbiyar PAIR: 1505038
_ Barra oscilante, suspension de ruedas
Triangle de suspension
FORD EXPLORER 01/20 -
1905181 TRACK CONTROL ARM
rotilli kol, 6n, alt FRONT LOWER
2063304902 pblyar Aluminium
2063305002 Barra oscilante, suspensién de ruedas

Triangle de suspension

MERCEDES BENZ C-SERIES (W206) 01/21-
1905182 TRACK CONTROL ARM
rotilli kol, 6n, alt FRONT LOWER
2063305102 pblyar Aluminium
2063305202 Barra oscilante, suspension de ruedas

Triangle de suspension

MERCEDES BENZ ~ C-SERIES (W206) 01/21-

2109061 TRACK CONTROL ARM REAR,RH
denge kolu, arka sag, alt

!‘I e =) 9820632280 pbluar PAIR:2109062

Barra oscilante, suspension de ruedas
Triangle de suspension

PEUGEOT 508 I 09/18-
2109062 TRACK CONTROL ARM REAR,LH
denge kolu, arka sol, alt
9820632480 pbiyar PAIR:2109061

Barra oscilante, suspensién de ruedas
Triangle de suspension

PEUGEOT 50811 09/18-

STOCK AND PRICE INFO ONLINE
2024-05 (BY PRODUCT GROUP) WWW.FORMPART.COM

6 of 17



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

2609021 STRUT CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol, Ust
1EA505323A pblyar
Barra oscilante, suspension de ruedas
Triangle de suspension
SKODA ENYAQ SUV (5AC, 5AZ) 10/20- VOLKSWAGEN ID.3 (E11) 11/19-
VOLKSWAGEN ID.4 (E21) 05/20- VOLKSWAGEN ID.5 01/22-
, 3509090 TRACK CONTROL ARM REAR
*} rotilli kol, arka sag-sol, 6n
i 20250FLO10 pblyar
M Barra oscilante, suspensién de ruedas
Triangle de suspension
SUBARU FORESTER (SK) 04/18- SUBARU IMPREZA (GT,GK) 10/16-
SUBARU LEGACY VII 10/20- SUBARU OUTBACK 01/20-
SUBARU XV 08/17-
3809054 TRACK CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol, Ust
TD1128C10 pbiyar

Barra oscilante, suspension de ruedas
Triangle de suspension

MAZDA CX-9 (TB) 08/07-08/16
& 3809099 TRACK CONTROL ARM REAR,RH
[ rotilli kol, arka sag
NE51286008 pblyar PAIR:3809100
Barra oscilante, suspensién de ruedas
Triangle de suspension
MAZDA MX-5 IV (ND) 04/15-
& 3809100 TRACK CONTROL ARM REAR,LH
] rotilli kol, arka sol
NE5128650B pbluar PAIR:3809099
Barra oscilante, suspension de ruedas
Triangle de suspension
MAZDA MX-5 IV (ND) 04/15-
4105006 TRACK CONTROL ARM LH
G = rotilli kol, 6n sol, alt LOWER FRONT
- 54501AM602 pblyar PAIR:4105007
' Barra oscilante, suspensién de ruedas
Triangle de suspension
INFINITY G35 08/03- NISSAN 350 ZX (Z33) 10/02 -03/09
4105007 TRACK CONTROL ARM RH
= & rotilli kol, 6n sag, alt LOWER FRONT
Y 54500AM602 pbiyar PAIR:4105006
g
*® Barra oscilante, suspension de ruedas
Triangle de suspension
INFINITY G35 08/03- NISSAN 350 ZX (Z33) 10/02 -03/09
4205004 TRACK CONTROL ARM LH, FRONT
rotilli kol, 6n, alt sol LOWER
“« ‘H 4806953010 pbluar Pair: 4205005
4806959025 Barra oscilante, suspension de ruedas
Triangle de suspension
LEXUS IS 1 (JCE1, GXE1) 1S200-1S300 04/99 - 07/05 LEXUS IS (SportCross) 10/01 - 10/05
TOYOTA ALTEZZA (E1) 01/99 - 07/05
4205005 TRACK CONTROL ARM RH, FRONT
i rotilli kol, 6n, alt sag LOWER
H” = » 4806853010 poivar Pair: 4205004
4806859025 Barra oscilante, suspension de ruedas
Triangle de suspension
LEXUS 1S 1 (JCE1, GXE1) 1S200-1S300 04/99 - 07/05 LEXUS IS (SportCross) 10/01 - 10/05

TOYOTA ALTEZZA (E1)

2024-05 (BY PRODUCT GROUP)

01/99 - 07/05

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

7 of 17



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

T — 4205010
GO Sy o
* 4864050110

LEXUS LS (460) 08/07-08/12

TRACK CONTROL ARM
rotilli kol, 6n, alt sol
pblyar

Barra oscilante, suspension de ruedas
Triangle de suspension

LH
LOWER, FRONT

Pair: 4205011

4205011

4862050070

TRACK CONTROL ARM
rotilli kol, 6n, alt sag
pbiyar

Barra oscilante, suspension de ruedas
Triangle de suspension

RH
LOWER, FRONT

Pair: 4205010

LEXUS LS (460) 08/07-08/12
4909098
O ——fy 5520126500
5520126550

TRACK CONTROL ARM
denge kolu, arka sag, tst
pbluar

Barra oscilante, suspension de ruedas
Triangle de suspension

REAR,RH

PAIR:4909099

HYUNDAI SANTA FE | 11/00 -02/06
4909099

e——) 5520026500
5520026550

TRACK CONTROL ARM
denge kolu, arka sol, st
pbiyar

Barra oscilante, suspension de ruedas
Triangle de suspension

REAR,LH

PAIR:4909098

HYUNDAI SANTAFEI 11/00 -02/06
5609128 TRACK CONTROL ARM REAR,LH
denge kolu, arka sol
L A 23350587 pblyar PAIR:5609129
84149391 Barra oscilante, suspension de ruedas
Triangle de suspension
BUICK REGAL 01/17 CHEVROLET MALIBU 9th Generation 09/16-
OPEL INSIGNIA B (Z18) 08/17-
5609129 TRACK CONTROL ARM REAR,RH
denge kolu, arka sag
A 23350588 pbiuar PAIR:5609128
84149392 Barra oscilante, suspensién de ruedas
Triangle de suspension
BUICK REGAL 01/17 CHEVROLET MALIBU 9th Generation 09/16-
OPEL INSIGNIA B (218) 08/17-
6009 171 TRACK CONTROL ARM REAR
denge kolu, arka sag-sol, list
M 5085419AA puivar
5085419AB Barra oscilante, suspension de ruedas
5085419AC Triangle de suspension
CHRYSLER SEBRING (JS) 08/06 - 12/10 DODGE AVENGER 06/07-
DODGE JOURNEY 1st Generation 08/09-
A004.Central rods. tie rods
A004.Borulu Rotlar. Orta Rotlar(0035+) & . P - .
A004.CoeaHue bvnesble TAMU & " v
Biellette de direction L
EXTREMO DE DIRECCION
4106007 CENTRAL ROD BOTH SIDES
orta rot, 6n sag-sol
48510-35525 cpeaHAA pyneBas Tara
D8510VK90A Rétula barra de acoplamiento
Barre de connexion
NISSAN FRONTIER 01/98 - 12/04 NISSAN NAVARA (D22_) 11/01 -
NISSAN PICK UP D22 4WD 02/98 -

2024-05 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

8of 17



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

A005.Axial ioints

A005.Rotmilleri (0020)
A005.Pvnesble TAru

Rotule de direction intérieure
ARTICULACION AXIAL / AXIAL

1207064 AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol M14x1,5;M16x1,5;L=233 mm
‘- 32105A1F916 51 pynesas Tara
32105A1F917 51 Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure
BMW X1 (U11) 02/22- BMW 2- SERIES ACTIVE TOURER (U 02/21-
1307040 AXIAL JOINT BOTH SIDES
rotmili, n sag-sol M14x1,5;M14x1,5;L=287,5 MM
* | @ 1680446280 pynesas Tara
Articulacién axial, barra de acoplamiento
Rotule de direction intérieure
CITROEN C4 111 (BA,BB, BC) 10/20- CITROEN ca/cax 01/22-
1507117 AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol M14x2; M14x1,5;L=349 mm
Pe—) 252328007 pynesas Tara
2M5732808B Articulacién axial, barra de acoplamiento
Rotule de direction intérieure
FORD FOCUS | (DAW, DBW) 08/98 - 11/04
1507124 AXIAL JOINT FRONT
—— rotmili, 6n M14x1,5;M16x1,5;L=202 mm
i \m 1910479 pyneBas Tara ELEC PS. 4WD
— 2258112 Articulacién axial, barra de acoplamiento
EB3C3D032AA Rotule de direction intérieure
FORD RANGER (P375/PX) 04/11 -
1907048 AXIAL JOINT BOTH SIDES
rotmili, &n M16x1,5;M16x1,5;L=282 MM
‘— 2974608700 pynesas Tara
Articulacién axial, barra de acoplamiento
Rotule de direction intérieure
MERCEDES BENZ EQE (V295) 01/22- MERCEDES BENZ EQS (V297) 01/21-
2007041 AXIAL JOINT BOTH SIDES
rotmili, 6n M16x1,5;M16x1,5;L=293 MM
) emmmme— 13314165 pynesan Tara
920005 Articulacién axial, barra de acoplamiento
Rotule de direction intérieure
OPEL ASTRAJ 01/10 -
2007053 AXIAL JOINT BOTH SIDES

» '—"‘ ¢
e SRR 13337891

rotmili, 6n sag-sol
pynesas Tara

Articulacién axial, barra de acoplamiento
Rotule de direction intérieure

M16x1,5;M16x1,5;L=233 mm
Equipment Vart.: HYDRO. PS

OPEL ASTRA J (GTC) 12/09-05/15
2107061 AXIAL JOINT BOTH SIDES
3 rotmili, 6n sag-sol M14x1,5;M16x1,5;L=215,5 mm
5_‘_“ 1607142380 S1 pynesas Tara SW & 2.0lt. Only
S Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure
PEUGEOT 508 | 11/10-12/18
3707076 AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol M16x1,5;M16x1,5;L.=248 MM
‘-.-:_- 56540-CG000 pynesan Tara
Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure
HYUNDAI STARIA 01/22-

2024-05 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

9of 17



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

F—

5607045

88967176

AXIAL JOINT

rotmili, 6n sag-sol

pynesas Tara

Articulacién axial, barra de acoplamiento
Rotule de direction intérieure

BOTH SIDES
M14x1,5;M14x1,5;L=275.5

USA TYPE

PONTIAC SOLSTICE 01/06 - 12/09 SATURN SKY 01/07-12/10
5607055 AXIAL JOINT FRONT
rotmili, 6n M16x1,5;M18x1,5;L=296 MM
M 22776540 pyneBas Tara
22976767

CHEVROLET

CAMARO 5th Generation

08/10 - 08/15

Articulacion axial, barra de acoplamiento
Rotule de direction intérieure

A006.Stabilizer links

A006.Z-rotlar. Denge Rotlari (0060)
A006.CToiiku ctabunusarona

Biellette de barre stabilisatrice
BARRA / ESTABILIZADOR / BIELETA

% 09t g Og b

FRONT
— 1108053 STABILIZER I:INK ) Lo
o denge rotu, 6n sag-sol = mm
,/‘\ _\ 3D0411317 cToiiKa crabunusatopa
‘ / o Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
AUDI A8 (4E) 10/02 - 07/10 VOLKSWAGEN PHAETON 04/02 -
1208130 STABILIZER LINK REAR
denge rotu, arka =140 MM
33506861482 S1 cTolKa ctabunusaropa STEEL TYPE
33506869096 S1 Travesafios/barras, estabilizador
-
Biellette de barre stabilisatrice
BMW 5 SERIES (G30, F90) 07/16- BMW 6 Gran Turismo (G32) 06/17 -
BMW 7 (G11, G12) 07/15- BMW 8 SERIES (G14, G15, G16) 01/18-
1908202 STABILIZER LINK REAR
2 denge rotu, arka L=251 mm
' # 4633206400 cToiika crabunmsatopa
h’
A 46332064 00 Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
MERCEDES BENZ G-CLASS (W463A) 03/18-
1908203 STABILIZER LINK REAR
® & denge rotu, arka sag-sol =117 mm
2233204401 cTolKa cTabunusaropa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
MERCEDES BENZ S SERIES (W223) 09/20-
: 1908217 STABILIZER LINK REAR
denge rotu, arka sag-sol L=220 mm
2323203300 cTolKa ctabunusartopa
A2323203300 Travesafios/barras, estabilizador
L] Biellette de barre stabilisatrice
MERCEDES BENZ SL (R 232) 01/22-
3608092 STABILIZER LINK FRONT,LH
denge rotu, arka sol L=128 mm
- 52325T6ZA01 cTolKa ctabunusartopa Pair: 3608093
- Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
HONDA RIDGELINE 01/17-
3608093 STABILIZER LINK REAR,RH
denge rotu, arka sag L=128 mm
52320T6ZA01 cTolKa ctabunusaropa Pair: 3608092
h Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
HONDA RIDGELINE 01/17-

2024-05 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

10 of 17



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

& 1 STABILIZER LINK FRONT
Se? 3608139 denge rotu, 6n L=84 mm
o / 51320ST7003 S1 cTolKa cTtabunusartopa
[ | o -
’l Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
ACURA INTEGRA 08/94-08/01
3608140 STABILIZER LINK FRONT,LH
denge rotu, 6n sol L=310 MM
‘V . 51325T00TO1 CTOWKa cTabunusaropa PAIR:3608141
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
HONDA CITY VII (GN) 12/19-
3608141 STABILIZER LINK FRONT,RH
denge rotu, 6n sag L=310 MM
. ‘. 51320T00TO1 croiika crabunusaropa PAIR:3608140
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
HONDA CITY VII (GN) 12/19-
REAR,LH
- 4108213 STABILIZER LINK ,
= “' denge rotu, arka sol =113 mm
562616UA0B cTolKa cTabunusaropa PAIR:4108203
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
NISSAN QASHQAI 01/21-
= 4208201 STABILIZER LINK FRONT
denge rotu, 6n L=251 MM
48820WB002 S1 cTolKa cTabunusaropa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
TOYOTA YARIS (XP210) 01/20-
4808019 STABILIZER LINK FRONT
oY denge rotu, 6n sag-sol L=140 mm
MNC2105AA cTolKa cTtabunusaropa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
JAGUAR XJ (X300_) 08/94 -08/97 JAGUAR XJ (NAW_, NBW_) 08/96 - 08/03
5608060 STABILIZER LINK FRONT
a denge rotu, 6n L=258 mm
.__ 4? 26201979 CToiiKa cTabunmsatopa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
CHEVROLET AVEO (T300) 03/11-08/16 CHEVROLET SAIL 01/15-
5608068 STABILIZER LINK RIGHT,FRONT
denge rotu, 6n sag L=299 mm
= 92253276 cTolKa cTabunusartopa PAIR:5608067
’ B Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
CHEVROLET CAPRICE 02/01 - CHEVROLET CAPRICE 01/14-
CHEVROLET SS 02/14-
5608074 STABILIZER LINK BOTH SIDES,REAR
denge rotu, arka sag-sol L=180 mm
84196992 cTolKa cTabunusaropa
e 84379202 Travesafios/barras, estabilizador
84477697 Biellette de barre stabilisatrice
CHEVROLET EQUINOX 01/18- GMC TERRAIN 08/18 - 08/19
5608086 STABILIZER LINK REAR
denge rotu, arka sag-sol =170 MM
15989670 cTolKa cTabunusaropa

6—6

CHEVROLET

2024-05 (BY PRODUCT GROUP)

S10 2nd Generation

08/82-08/04

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

110f 17



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

117 STABILIZER LINK FRONT
?" 5608 denge rotu, 6n L=187 MM
24568434 cTolKa cTtabunusartopa
Travesafios/barras, estabilizador
- Biellette de barre stabilisatrice
CHEVROLET N300 01/11-
5608119 STABILIZER LINK FRONT,RH
denge rotu, 6n sag =224 MM
s 23942713 CTOWKa cTabunusaropa PAIR:5608120
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
CHEVROLET N400 01/20-
5608120 STABILIZER LINK FRONT,LH
denge rotu, 6n sol L=224 MM
o 23942712 cTolKa ctabunusatopa PAIR:5608119
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
CHEVROLET N400 01/20-
6008098 STABILIZER LINK REAR
_ 4 denge rotu, arka sag-sol L=108 mm
mﬂ & ' 10026678 cToliKa ctabunusatopa
12337995 Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
BUICK LESABRE 7th generation 08/92-09/99 BUICK PARK AVENUE 1st generatio 08/91-09/96

A007.Wishbones

A007.Salincaklar (0040-0060)
A007.Pbluaru 3aaHeit noaBecku. bvmenaHru

Triangle de suspension
BRAZO DE SUSPENSION

1409132 WISHBONE FRONT
salincak, 6n sag-sol 4x4
5976943 S1 pbiyar
23
Barra oscilante, suspensién de ruedas
Triangle de suspension
FIAT PANDA 07/86 - 07/03
1509397 WISHBONE FRONT,RH
salincak, 6n sag, alt
KB3Z3078A S1 pbiyar PAIR:1509398
Barra oscilante, suspension de ruedas
Triangle de suspension
FORD RANGER (T6) 01/19-11/21
1509398 WISHBONE FRONT,LH
salincak, on sol, alt
KB3Z3079A S1 pblyar PAIR:1509397
Barra oscilante, suspensién de ruedas
Triangle de suspension
FORD RANGER (T6) 01/19-11/21
1709008 WISHBONE RH, FRONT
salincak, 6n sag UPPER
LR 014 132 pblyar Pair: 1709009
LR 051 614 Barra oscilante, suspensién de ruedas
Triangle de suspension
LAND ROVER DISCOVERY SERIES Il 08/04 -08/09 LAND ROVER DISCOVERY SERIES IV (LA) 09/09-
1709009 WISHBONE LH, FRONT
salincak, 6n sol UPPER
LR 014133 pblyar Pair: 1709008
LR 051 615 Barra oscilante, suspensién de ruedas

LAND ROVER DISCOVERY SERIES 111 08/04 -08/09

2024-05 (BY PRODUCT GROUP)

Triangle de suspension

LAND ROVER DISCOVERY SERIES IV (LA)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

09/09-

12 of 17



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

1709034
RBJ500231
A RBJ500232

LAND ROVER DISCOVERY SERIES Il 08/04 -08/09

WISHBONE
salincak, on, Ust sol
pblyar

Barra oscilante, suspension de ruedas
Triangle de suspension

LH
UPPER, FRONT

Pair: 1709035

1709035
h . RBJ500221
RBJ500222

LAND ROVER DISCOVERY SERIES I 08/04 -08/09

WISHBONE
salincak, 6n, st sag
pbiyar

Barra oscilante, suspension de ruedas
Triangle de suspension

RH
UPPER, FRONT

Pair: 1709034

1709036
° ‘ LR051618

LR074838

RBJ500790

WISHBONE
salincak, on, Ust sol
pbluar

Barra oscilante, suspension de ruedas
Triangle de suspension

LH
UPPER, FRONT

Pair: 1709037

LAND ROVER DISCOVERY SERIES Il 08/04 -08/09 LAND ROVER DISCOVERY SERIES IV (LA) 09/09-

LAND ROVER RANGE ROVER SPORT I (L320 02/05 -03/13
WISHBONE RH
salincak, 6n, ist sag UPPER, FRONT
pbiyar Pair: 1709036

1709037
° LRO14619

LR051617

RBJ500780

Barra oscilante, suspensién de ruedas
Triangle de suspension

LAND ROVER DISCOVERY SERIES Il 08/04 -08/09 LAND ROVER DISCOVERY SERIES IV (LA) 09/09-
LAND ROVER RANGE ROVER SPORT I (L320 02/05 -03/13
1909145 WISHBONE RH; LOWER
salincak, 6n sag, alt 16.2 mm
- 447 3303000 pbluar PAIR:1909146
A 4473303000 Barra oscilante, suspension de ruedas
Triangle de suspension
MERCEDES BENZ  VITO (W447) 08/14-
1909146 WISHBONE LH; LOWER
salincak, on sol, alt 16.2 mm
v 4473303100 pbluar PAIR:1909145
A 4473303100 Barra oscilante, suspensién de ruedas
Triangle de suspension
MERCEDES BENZ VITO (W447) 08/14-
/R FRONT,RH
-~ 1909165 WISHBONE
salincak, 6n sag, Ust
e 4633304201 pblyar PAIR:1909166
T 4633308001 Barra oscilante, suspension de ruedas
s Triangle de suspension
MERCEDES BENZ ~ G-CLASS (W463A) 03/18-
g FRONT,LH
o 1909166 WISHBONE
salincak, 6n sol, st
8 4633304101 pbiyar PAIR:1909165
e 4633307901 Barra oscilante, suspensién de ruedas
B Triangle de suspension
MERCEDES BENZ G-CLASS (W463A) 03/18-
2209089 WISHBONE LH, FRONT
: X salincak, on sol
545013512R pblyar noABecKu Pair: 2209090
545017342R Barra oscilante, suspensién de ruedas
545032428R 52 Triangle de suspension
DACIA SPRING 10/20- RENAULT KWID 01/17-
2209090 WISHBONE RH, FRONT
salincak, 6n sag
545005235R pblyar noaBecku Pair: 2209089
545005792R Barra oscilante, suspension de ruedas
545021303R Triangle de suspension
DACIA SPRING 10/20- RENAULT KWID 01/17-

2024-05 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

13 0f 17



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

VOLKSWAGEN

TRANSPORTER T4

2909044

7D0 407 152 A

01/96 -04/03

WISHBONE

salincak, 6n sag, alt

pbiuar (6ymepaHr)

Barra oscilante, suspension de ruedas
Biellette de barre stabilisatrice

FRONT,RH

PAIR: 2909045

2909045

7D0 407 151 A

WISHBONE

salincak, 6n sol, alt

poiuar (6ymepaHr)

Barra oscilante, suspension de ruedas
Biellette de barre stabilisatrice

FRONT,LH

PAIR: 2909044

VOLKSWAGEN TRANSPORTER T4 01/96 -04/03
2909232 WISHBONE FRONT,RH
salincak, 6n sag, alt
5R3407152B S1 pblyar PAIR:2909233
Barra oscilante, suspension de ruedas
Triangle de suspension
VOLKSWAGEN CADDY V 09/20-
2909233 WISHBONE FRONT,LH
salincak, 6n sol, alt
5R3407151B S1 pblyar PAIR:2909232
Barra oscilante, suspension de ruedas
Triangle de suspension
VOLKSWAGEN CADDY V 09/20-
s 3509046 WISHBONE FRONT,LH
: salincak, 6n sol L=347 mm
20202AJ010 pblyar PAIR:3509047
20202AJ110 Barra oscilante, suspension de ruedas
20219A1000 Triangle de suspension
SUBARU B4 (BM,BR) 08/09-09/14 SUBARU LEGACY V 09/09 -08/14
3509047 WISHBONE FRONT,RH
7 salincak, 6n sag L=347 mm
20202AJ000 pbiyar PAIR:3509046
20202AJ040 Barra oscilante, suspension de ruedas
Triangle de suspension
SUBARU B4 (BM,BR) 08/09-09/14 SUBARU LEGACY V 09/09 -08/14
3509058 WISHBONE FRONT,RH
salincak, 6n sag Middle East Market
20202AJ040 S2 pblyar PAIR:3509059
Barra oscilante, suspension de ruedas
Triangle de suspension
SUBARU B4 (BM,BR) 08/09-09/14 SUBARU LEGACY V 09/09 -08/14
3509059 WISHBONE FRONT,LH
salincak, 6n sol Middle East Market
20219AJ000 S3 pbiyar PAIR:3509058
Barra oscilante, suspension de ruedas
Triangle de suspension
SUBARU B4 (BM,BR) 08/09-09/14 SUBARU LEGACY V 09/09 -08/14
3509086 WISHBONE FRONT,RH
salincak, 6n sag, alt
20202XCO0A pbluar PAIR:3509087
) Barra oscilante, suspensién de ruedas
Triangle de suspension
SUBARU ASCENT (WM) 09/19-
3509087 WISHBONE FRONT,LH
salincak, 6n sol, alt
20202XCO1A pbluar PAIR:3509086
Barra oscilante, suspension de ruedas
ey Triangle de suspension
SUBARU ASCENT (WM) 09/19-

2024-05 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

14 of 17



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

3509088 WISHBONE FRONT,RH
salincak, 6n sag, alt
20202XC00A S1 pblyar PAIR:3509089
, Barra oscilante, suspension de ruedas
g Triangle de suspension
SUBARU ASCENT (WM) 09/19-
3509089 WISHBONE FRONT,LH
salincak, 6n sol, alt
20202XCO01A S1 pblyar PAIR:3509088
\ Barra oscilante, suspension de ruedas
= Triangle de suspension
SUBARU ASCENT (WM) 09/19-
4109122 WISHBONE FRONT,LH
salincak, on sol, alt
54501-3JA0A pbiyar Pair: 4109123

54501-3JA0C
54501-3JA0D

Barra oscilante, suspension de ruedas
Triangle de suspension

INFINITY X35 08/14- INFINITY QX60 08/14-
NISSAN PATHFINDER ( R52) 08/14-
4109123 WISHBONE FRONT,RH
salincak, 6n sag, alt
54500-3JA0A pbiyar Pair: 4109122

54500-3JA0C
54500-3JA0D

Barra oscilante, suspensién de ruedas
Triangle de suspension

INFINITY JX 35 08/14- INFINITY Qxe60 08/14-
NISSAN PATHFINDER ( R52) 08/14-
L 4109245 WISHBONE FRONT,RH
salincak, 6n sag, alt
545006UAOA pblyar PAIR:4109246
i Barra oscilante, suspension de ruedas
Triangle de suspension
NISSAN QASHQAI 01/21- RENAULT R4,R5,R6 06/62 - 12/87
RENAULT AUSTRAL 01/22-
. 4109246 WISHBONE FRONT,LH
salincak, 6n sol, alt
545016UA0A pbiyar PAIR:4109245
C Barra oscilante, suspensién de ruedas
Triangle de suspension
NISSAN QASHQAI 01/21- RENAULT R4,R5,R6 06/62 -12/87
RENAULT AUSTRAL 01/22-
WISHBONE FRONT,RH
.. 4209372 salincak, 6n sag, alt 4WD / PreRunner
4806835120 pbiyar PAIR:4209373
|2 Barra oscilante, suspension de ruedas
o

TOYOTA TACOMA (N1)

01/95 - 08/04

Triangle de suspension

4209373

4806935120

WISHBONE
salincak, 6n sol, alt
pbluar

Barra oscilante, suspension de ruedas
Triangle de suspension

FRONT,LH
4WD / PreRunner

PAIR:4209372

TOYOTA TACOMA (N1) 01/95 - 08/04
4309040 WISHBONE FRONT,RH
salincak, 6n sag
4520153R01 pbiyar PAIR:4309041
4520153R02 Barra oscilante, suspension de ruedas
Triangle de suspension
SUZUKI SWIFTV (AZ) 01/17-

2024-05 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

150f 17



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

Barra oscilante, suspensién de ruedas

4309041 WISHBONE FRONT,LH
salincak, 6n sol
4520253R01 pblyar PAIR:4309040
4520253R02 Barra oscilante, suspension de ruedas
Triangle de suspension
SUZUKI SWIFTV (AZ) 01/17-
REAR,RH
- 4809032 WISHBONE N
\ i salincak, arka sag, alt Until N38572
e e XR88759 S3 pbiuar PAIR:4809033
N
P\ Barra oscilante, suspension de ruedas
~ -
- Triangle de suspension
JAGUAR S-TYPE (X200) 10/98 -12/08
WISHBONE REAR,LH
& 4 .
) f 809033 salincak, arka sol, alt Until N38572
- ® XR88760 S3 pbiuar PAIR:4809032
) ‘3’% Barra oscilante, suspension de ruedas
- %’
- Triangle de suspension
JAGUAR S-TYPE (X200) 10/98 -12/08
4909081 WISHBONE FRONT,LH
salincak, 6n sol, alt
54500H8500 pblyar PAIR:4909082
Barra oscilante, suspension de ruedas
Triangle de suspension
KIA STONIC (YB) 07/17-
4909082 WISHBONE FRONT,RH
salincak, 6n sag, alt
54501H8500 pblyar PAIR:4909081
Barra oscilante, suspension de ruedas
Triangle de suspension
KIA STONIC (YB) 07/17-
T FRONT,RH
e ) 6009146 WISHBONE
salincak, 6n sag, st 4x4
% 19181785 pbiyar PAIR:6009147
I et 19168536 S1 Barra oscilante, suspension de ruedas
L e Triangle de suspension
CADILLAC CTS 08/08-08/13 CADILLAC SRX 08/03-08/09
CADILLAC STS 08/06-08/15
p— FRONT,LH
{ a 6009 147 WISHBON.E . axa
salincak, 6n sol, st X
{ 19181784 pblyar PAIR:6009146
PP Y 1917721151 Barra oscilante, suspension de ruedas
e Triangle de suspension
CADILLAC CTS 08/08-08/13 CADILLAC SRX 08/03-08/09
CADILLAC STS 08/06-08/15
6009148 WISHBONE FRONT,RH
) salincak, 6n sag, st 4x4
5166386AA S1 pbiyar PAIR:6009149
52106386AB

Triangle de suspension

DODGE DAKOTA (RWD) 08/00-08/03 DODGE DURANGO 1st Generation 08/88-08/03
6009149 WISHBONE FRONT,LH
salincak, 6n sol, tist 4x4
5166387AA S1 pblyar PAIR:6009148
52106387AB Barra oscilante, suspensién de ruedas
= Triangle de suspension
DODGE DAKOTA (RWD) 08/00-08/03 DODGE DURANGO 1st Generation 08/88-08/03
6009150 WISHBONE FRONT,RH
salincak, 6n sag, st 4xa
5166386AA S2 pbiyar PAIR:6009151
52106386AB S1 Barra oscilante, suspension de ruedas
T Triangle de suspension
DODGE DAKOTA (RWD) 08/00-08/03 DODGE DURANGO 1st Generation  08/88-08/03

2024-05 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

16 of 17



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

6009151

5166387AA S2
52106387AB S1

WISHBONE
salincak, 6n sol, st
pblyar

Barra oscilante, suspension de ruedas

FRONT,LH
4x4

PAIR:6009150

B Triangle de suspension
DODGE DAKOTA (RWD) 08/00-08/03 DODGE DURANGO 1st Generation ~ 08/88-08/03
~ FRONT,RH
- 7 6109051 WISHBONE Aluminium
(\[\Y\T: = salincak, 6n sag, alt u u
S 68285992AF pbluar PAIR:6109052
@ Barra oscilante, suspension de ruedas
Triangle de suspension
JEEP CHEROKEE (KL) 11/13-
FRONT,LH
- 1 2 WISHBONE T
Q:’“ﬁ-);\ 610905 salincak, 6n sol, alt Aluminium
. A%\ 68288579AF pblyar PAIR:6109051
Barra oscilante, suspension de ruedas
Triangle de suspension
JEEP CHEROKEE (KL) 11/13-
S WISHBONE FRONT,RH
.:Q,',.\‘ - 6109053 salincak, 6n sag, alt W/Height Control Susp. / RWD
& N 4877158AH pblyar PAIR:6109054
iﬂJ Barra oscilante, suspension de ruedas
Triangle de suspension
RAM 1500 08/11-
——— WISHBONE FRONT,LH
L ""\‘.F. 6109054 salincak, 6n sol, alt W/Height Control Susp. / RWD
e A 4877159AH pblyar PAIR:6109053
'&_r. Barra oscilante, suspension de ruedas
= ‘ Triangle de suspension
RAM 1500 08/11-

FLYER-2024-05

2024-05 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

17 of 17



